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Max. Marks : 75
SECTION A – (10 × 2 = 20 marks)
Answer any TEN questions


1. Solve  [image: image2.png]


  [image: image4.png]



2. Find  the  general  solution  of  [image: image6.png]


 .
3. Solve  [image: image8.png](D*-3D + 2)y




4. Find  particular  integral  of  [image: image10.png](D*+4)y 2




5. Eliminate  arbitrary  constants  [image: image12.png]z=ax + by + ab.




6. Solve  [image: image14.png]*p + ¥?



 [image: image16.png]



7. Find  [image: image18.png]L(t?).




8. Find  [image: image20.png]L"((!il)‘



 [image: image22.png]



9. Find  [image: image24.png]L(

a’y
2

)



.

10. Find  [image: image26.png]L(

dy



 [image: image28.png]


  when  [image: image30.png]



11. Find  particular  integral  of  [image: image32.png](D?+D+1):





12. Find     [image: image35.png]L( sin4t)




SECTION B – (5 × 5 = 25 marks)
Answer any FIVE questions

13. Solve  [image: image37.png]y+px=x*p?



 .

14. Solve  [image: image39.png](D?



  - [image: image41.png]D—-2)y= e* + e*



.

15. Eliminate  arbitrary  function   in  [image: image43.png]= ¢ (0)p(y).





16. Find  [image: image46.png]L (tcos 5t)



 Find   .

17. Solve  [image: image48.png]


 [image: image50.png]


 [image: image52.png]-2y



given  [image: image54.png]2 ,yt(0)=




 , using Laplace Transforms.
18. Solve  [image: image56.png](y+z)dx+ (z+x)dy+(x+y)dz=0.




19. Solve  [image: image58.png]


 [image: image60.png]


 [image: image62.png]+6y = e” cos2x



.
SECTION C – (3 × 10 = 30 marks)
Answer any THREE questions
20. Solve  [image: image64.png]xyp? +(x+y)p +1




21. Solve  [image: image66.png](D*+D— 2)y = sin2x.




22. Solve  [image: image68.png]


  [image: image70.png]+ q?



  [image: image72.png]



23. Find  L-1 [image: image75.png][ 751
(s+1)(s+2)(2+3).



 .
24. Solve  [image: image77.png]


 [image: image79.png]


 [image: image81.png]


given  [image: image83.png]y(0)=2,y*(0)=7



 using Laplace transforms.
____________
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